Further Practices


Further Practice 8.1A
Basic

1. Write an algebraic expression for each of the following mathematical statements.
(a) Add 7f  to 8g.
(b) Subtract 3 from 4d.
(c) Multiply a by 3c.
(d) Divide 8 by 5a.
(e) Add 6b to the product of 2 and f.
(f) Subtract 4r from 3q and divide the answer by 2g.
2. Formulate algebraic expressions for each of the following.

(a) Rosli has 5z stamps. Julia has 3x stamps less than Rosli. How many stamps does Julia have?

(b) Mrs Lee bought b sweets and divided them equally among c boys. How many sweets did each boy get?

Intermediate

3. There are 2 mangoes and 3 pineapples altogether. Each mango weighs x g and each pineapple weighs y g. What is the total weight of the fruits?
4. Karen has a stickers. Lisa has (b + 2) stickers. Murni has c stickers. If the girls combine their stickers and divide them equally, how many stickers would each girl get?
Challenging

5. The total cost of x notebooks is $12. If one of the notebooks costs 
y dollars, what is the average cost of the remaining notebooks?
Further Practice 8.1B
Basic

1. Evaluate x + 2 – 3x(x + 1) if:
(a) x = 4,



(b) x = –7.
2. If x = 4, y = –9 and z = 5, evaluate the following.
(a) 3 x + y – 2z


(b) [image: image1.emf]4xy
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Intermediate

3. If a = [image: image3.emf]A=
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, b = –0.2 and c = 3, evaluate the following.
(a) 3abc
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4. Wafi had x rabbits that weighed 2.2 kg each and y hamsters that weighed 0.54 kg each. Their total weight was z kg.

(a) Find an algebraic expression for calculating z.

(b) Find the value of z, if x = 4 and y = 8. Give your answer to 1 decimal place.

Challenging

5. The volume of a pyramid, v m3, is the product of its base area, a m2, and its height h m, divided by 3. Find:
(a) an algebraic expression to represent the volume, v m3,

(b) its volume given that the pyramid has a square base of side 4 m and a height of 6 m.

Further Practice 8.1C
Basic

1. In each of the following, state (i) the coefficient of a, (ii) the coefficient of b, and (iii) the constant.
(a) [image: image6.emf]NN
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(b) 22a + 2b – 5 
2. Simplify the following.

(a) 7x + 3x


(b) 14y – 12y


(c) 2c × 8d



(d) 15f ÷ 3e
Intermediate

3. Simplify the following.
(a) 40x +17y – 32x – 4y2

(b) 
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4. A dictionary weighs j g. A book weighs 56 g less than half the weight of the dictionary. What is their total weight?

Challenging

5. Ibrahim is (14 – x) years old. His brother Azis is 2 years younger. His mother is 20 years older than Aziz. Find the average age of Ibrahim, Aziz and their mother.
Further Practice 8.1D
Basic

1. Expand the following expressions.
(a) 4(3b – 2d)



(b) 2s(6b + 5s)


(c) 3(n + 2m – 3p)


(d) –(t + 1) – 4

2. Mr Tan weighs b kg. Mr Lee is 4 kg lighter than Mr Tan. Rahman is twice as heavy as Mr Lee. What is Rahman’s weight? Give your answer in terms of b.
Intermediate

3. Expand and simplify the following expressions.
(a) 4(7t – 8s) – 2(5 – 2s)


(b) –3(a + 4b) + 5(a + 2ab)

(c) 8(3x – 4y) – 3(3y + 2x)
(d) q(4r – q) + 2r(3 – 4q)
(e) 7s(s + 3 – 2t) – t(5 + s)

Challenging

4. Pitar has (3a + 7) toy cars. Adnan has twice as many toy cars as Pitar. Ray has 3 toy cars more than Adnan. Stanley has 3a less toy cars than Pitar and Ray combined. Find the total number of toy cars they have.
Further Practice 8.1E
Basic

1. Express the following as a single fraction.
(a) [image: image8.emf]Q| o0
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2. Mandy’s water bottle had [image: image11.emf]
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 mℓ of it. How much water is left in the bottle now?

Intermediate

3. Express the following as a single fraction.
(a) [image: image13.emf]3+s 2+4s
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4. Katijah filled a sack with rice and it weighed [image: image16.emf]3x+2
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 kg. Her mother added another [image: image17.emf]
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 kg of the rice to her neighbour. How much does the sack of rice weigh now?

Challenging

5. The heights of 3 boys are given below:
Daud: [image: image19.emf]
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Michael: [image: image20.emf]3a+22
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(a) How much taller is Nuh than Daud?
(b) Find the average height of the 3 boys.

Further Practice 8.2A
Basic

1. Solve the following.
(a) x + 7 = –4

(b) x – 2 = 6

(c) 8x = 72

(d) [image: image22.emf]W | =
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2. Solve the following.

(a) 4(x + 7) = 6

(b) [image: image23.emf]Zy5=7
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Intermediate

3. Solve the following.
(a) 3c + 5 – 8c = 17

(b) 4p + 10 – 2p = –2


(c) 5q + 3 = q + 7

4. Solve the following.

(a) 3(4x + 1) – 5(2x + 2) = 6

(b) 
[image: image25.emf]0.8x+2=10
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Challenging

5. Jamli has (4y + 7) stamps. Kieran has (3y – 4) stamps.  
Ali has (8y + 5) stamps.
(a) Write down an algebraic expression for the total number of stamps that Jamli and Kieran have.

(b) Find the value of y if the total number of stamps that Jamli and Kieran have is 10 less than Ali’s.

Further Practice 8.2B

Basic

1. When a number, y, is multiplied by 2, the result is 22. Find the value of value of y.
2. Snake B is 5 times as long as Snake A. Their total length is 192 cm. Find the length of Snake B.

Intermediate

3. When a number is divided by 5, the result is the same as when 8 is subtracted from the number. Find the number.
4. The total mass of 3 hens and 2 chicks is 5.3 kg. Each hen weighs 100 g less than the weight of 4 chicks. Find the weight of each hen.
Challenging

5. Mrs Samy has a ribbon of length 5.5 m. She cut it into 3 pieces. Piece A is half the length of Piece B. Piece C is 50 cm shorter than Piece A. Find the lengths of the three pieces of ribbon.
Further Practice 8.2C

Basic

1. Make c the subject of the following equations.

(a) 5 + c = 4d


(b) 3c – 2d = 11

(c) 5d = 2c – 10


(d) 2c + 1 = 4c – d
2. Make p the subject of the following equations.

(a) 8 = 
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(b) 17 = 
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-

3

p

q

 

(c) 4p = 20q – 8
(d) 15 – 3p = 5q
Intermediate

3. Make r the subject of 4k + 4r – 3t = 2.
4. Make c the subject of 8a – 3b = 2 – 5c.

Challenging

5. Make m the subject of the equation 
[image: image28.emf]
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